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Instructions

® Use black ink or ball-point pen.
® Fill in the boxes at the top of this page with your name,
centre number and candidate number.

® Answer Questions 1, 2, 3 and 4. In Question 2, answer either Question 2(a) or
Question 2(b). In Question 3, answer either Question 3(a) or Question 3(b).

® Answer the questions in the spaces provided
— there may be more space than you need.

® Write your answers in full sentences.

® You must not use a dictionary.
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® The total mark for this paper is 60.
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- you should spend approximately 10 minutes on the translation question.

Advice

® Read each question carefully before you start to answer it.
® Check your answers if you have time at the end.
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Choose either Question 2(a) or Question 2(b). 58
If you choose Question 2(a) put a cross in the box [] . 5
Young people and entertainment K&
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« Nooo kootilel n diaokédaon
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AvoTuxwg idate MOAA okoumidia Kat kavévav Kado avakUKAwonG. Mpaye éva
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Mpénel va cuumepIAABELC TIC AKOAOUOEC TTANPOPOPIEC:
« TNatiqoaoctav otnv mapalia
+  Tioag dpeoe exei

«  Tidev oag dpeoe eKel
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Choose either Question 3(a) or Question 3(b).
If you choose Question 3(a) put a cross in the box [] .
Working holiday

3 (a) Evag EA\nvag @idog oov, o Avtwvng, Ba douléyel oto Eevodoxeio Tou matépa Tou
otn Podo. ©éhelg va tov emokeTeic kKatl va Souléyelc padi Tou.

MpdYe éva NAEKTPOVIKO PVUUA OTOV AVTWV).

Mpémel va cuumepAABEIC TIC aKOAOUOEC TANPOPOPIEC:
« Tati BéAelg va mag otnv EANGSa

+  Nwg pmopeic va BonBnoeig oto {evodoxeio

+  Tiwpeg Ba RBeAeC va SOUAEVEIC

+  Av doUAePeG KATOU OTO TTAPENOOV.

lpdye mepimou 80-90 Aé€elc oTa EAANVIKA.
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If you choose Question 3(b) put a cross in the box [ .
Exams

3 (b) H @iAn oou n Mémn and tn Asukwoia B€NeL va HAOEL TN YVWUN OOV YIa TIG
€€€TAOEIC OTO TENOC TNG OXOAIKAG XPOVIAG.

Mpdye éva NAEKTPOVIKO Privupa otnv Momn.

Mpémet va cuumepAAPEIC TIC AKOAOUOEC TTANPOPOPIEC:
«  Mw¢ mpoetoipdalecal cuvrBwg yia TI¢ eEETATEIC

«  Tn yvVWUN OO0V yla TIG QETIVEG eEETATEIG

+  XeTolo Hdbnua ta My KaAUTEPQA

«  Ti10a KAVEIG LOAIG TEAEIWOOULV Ol EEETATELC.

lpdaye mepimou 80-90 Aéelg ota EAANVIKA.
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Joanna

4 MeTAQPAOE TIG TTPOTACELG TTOU AKOAOUBOUV 0Ta EAANVIKA.

(@) Friendship is important to me.

(d) We used to go to the same primary school.

(2)

(Total for Question 4 = 12 marks)

TOTAL FOR PAPER = 60 MARKS
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